
 

WEGA



1

2

3



1.

1.1 

Attention

i

:

i

:



:

:

1.2 

1.3 



2.4

i

2

4

1

3

5

2.3

2.

2.1  

1. 

 

i

5.

i

2.2

 



2

4

1

3

5

 

i

i



4.

 i

3.1

i

3.2

 

 

 

3.3

i

i

4.1

4.2



5.

i
5.1

 i

 

4.3

5.2



i

i

i
6.3

 5.3

i
6.

7.

6.1

i  

6.2

7.1

 i



i

i

i

i

7.2

i

Servicing

 



A. 

B. 

C. 

D. 

F.

G.

8.



9.

SP2
SP4 SP1

SP3

SP5



.

1 1.04.04.07

2 1.06.11.08

3 1.04.04.08

4

5 1.01.06.23

6 1.01.04.17

7 1.06.11.09

8 1.05.01.07

9 1.09.03.02

10 1.06.06.09

11 1.08.03.02

12 1.04.02.54

.

1 1.02.05.02

2 1.16.05.27

3 1.04.08.15

4 1.04.02.30

5 1.02.05.11

6 1.04.02.25  

7 1.04.02.56

8 1.06.09.22

9 1.06.07.25

10 1.06.07.0060



 





.

1 1.22.01

2 1.22.02

3 1.22.04

4 1.22.52

5 1.22.08

6 2.22.03

7 1.22.60

8 1.22.03

9 1.22.40

10 1.22.44

11 1.22.43

12 1.22.99

13 1.22.06

14 1.22.07

15 1.22.09

16 1.22.80

17 1.01.01.131

18 1.01.05.46

19 1.22.79

20 1.22.13

21 1.22.78

22 1.22.76

23 1.22.77

24 1.22.50

25 1.22.75

26 1.22.74

27 1.22.48

28 (8)

29 M8X12 (4)

30 M8X35 (8)

31 1.01.01.63

32 1.01.01.62

33 1.22.84 SB

34 2.22.04 

35 1.07.04.05

36 1.01.01.55

37 6.58.01.0001

38 1.22.55

39 1.22.47

1.22.89

.

5 1.06.03.06

6 1.04.02.08

7 1.08.02.02

8 1.09.01.02

9 1.06.04.03

10 1.06.06.04

11 1.08.01.02

12 1.04.02.20

13 1.06.09.17

14 1.04.02.18

15 1.05.01.20

16 1.06.09.18

17 1.09.02.03

18 1.06.05.03

19 1.04.02.19 (2)

20 1.06.02.03

21 1.06.03.07

22 1.06.07.01

23 1.06.09.19

24 1.04.02.23

25 1.05.01.19 (2) 

26 1.06.09.15

27 1.05.01.25

28 1.06.09.21

29 1.05.02.03

30 1.01.06.16

40

41

1.22.90



.

1 1.01.14.32

2 1.22.22

3 2.22.13

4 2.22.14 

5 2.22.12

6 1.22.63

7 1.22.49

8 1.22.64

9 1.01.01.20

10 1.01.01.84

11 1.22.65

12 1.22.61

13 1.01.01.130

14 1.22.135

15 1.01.01.151



1 2.09.04.517

2 2.02.016

3 2.08.001

4 2.02.0010

5 2.02.001

6 1.01.08.0002

7 2.02.005

8 1.01.04.05

9 1.02.03.0030

10 1.01.01.03

11 1.01.01.02

12 1.06.01.0005 (2)

13 1.02.10.15

14 1.04.02.0009

15 1.01.09.0020

16 1.02.04.0002
17 2.02.007

18 1.01.04.08

19 1.01.05.0007

.





.

1 1.22.53

2 1.22.37

3 1.01.01.111

4 1.22.31

5 1.22.32

6 1.22.0501

7 1.22.05

8 1.22.33

9 1.22.39

10 1.22.38

11 1.22.34

12 1.22.36

13 1.22.100

14 1.22.35

15 1.22.58

16 1.01.14.0100

17 1.01.14.0101

18 1.01.04.24

19 1.01.05.32

20 1.01.01.73

21 1.22.30

22 1.01.10.05

23 1.01.10.04

24 1.06.11.04

25 2.37.93

26 1.01.05.16

27 1.01.05.17

28

29

30

31 1.01.04.12

32 1.01.06.06

33   2.37.97

34 1.02.08.21

35 1.01.14.28 BA1412Z H

36 1.01.14.11 BA2414Z H

37 1.01.14.27 BA77Z H

38 1.01.14.08 BHA1112Z H

39 1.04.01.25

40 1.04.08.05

.

41 1.01.01.41  M6X35

42 1.01.01.64 M4X10

43 1.01.01.63  M4X8

44 2.37.20

45 1.01.01.108  M5X12

46

47 M6 12

48

 M8X

 5/16

25

.

1 1.22.45

2 1.22.4501

3 1.01.01.38

4 1.22.46

5 1.01.01.46 

6 1.07.04.05 

7 1.01.01.96

8 1.22.97 

9 1.22.87

10 1.22.85

11 1.22.86

1.03.04.08

1.01.06.10

1.01.05.18

X



MoskalevichE
ОАО «Абразивхимсбыт»

Адрес: 220100, г. Минск, ул. Кульман 35А, пом. 7 (4-й этаж)

Тел.: +375 17 338-44-44; +375 17 338-66-66

Email: site@abraziv.by

https://abraziv.by/



Сервисный центр

Тел.: +375 17 272-66-66; +375 29 149-20-02




